Dopéag : AHMMOZ APPIANQN
‘Ebpa Ymnpeoiag : PIANAYPA
Aidpkeia Z0pBaong ; 8 MHNEX

MPOZAHYH MPOLQMIKOY ME ZYMBALH OPIEMENOY XPONOY
MINAKAL KATATAZHE & BAOMOAOIIAY
YIIOWH®IQN KATHIOPIAZ YE
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{1a) | (1B) | (2) (3) | (4) | (5) (6) (7) (8)
XOYZEIN ATNAN KIAZHD __ |AI383706 |OXI___|NAI 3 o Joxi [Nal [oxi |3 |87 oxi___|oxI 200 150 [588 938,00 e
AEAH AMET |ENEXL FIOYIOY$d |AQ0254760 |OXI NAI 9 0 OXI OxXl |NAI |1 38 Oxi OXl 500 100 |50 |266 916,00 2
KINTH ZEPHO MMNAXAP MOYEITADA |AHB62734 |OXI NAI 8 0 NAI oxXl |OXI |3 0 OXi ox1 440 300 150 850,00 3
OANMNA EAENH . INYPIAON |AB740275 OXI NAI 0 0 OXI oxXl |OXI {1 172 OXi NAI 50 (588 130 |[768,00 I
ONMIMAIH XAAHA TKIOYANOYP EKPEM AlBS8232 OXI NAI 6 0 Oxl OXl |OXI 26 Ooxi (834 320 182 502,00 5
AMET MOYIA AMET AP289625 OXl NAI 0 0 oxl OXl |[OXI |2 57 oxi OXl 100 (399 499,00 &
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AZEN : Mivakag kardragng umrowngiwv opiopévou xpdvou




